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Barem de corectare. Clasa a VIII-a 

Problema 1  (7 puncte) 

a) 𝑎2 + 1 ≥ 2𝑎 ⟺ 𝑎2 − 2𝑎 + 1 ≥ 0 ⟺ (𝑎 − 1)2 ≥ 0.................................................................... (2p) 

b) 𝑥2 +
1

𝑥2 ≥ 2 .................................................................................................................................... (1p) 

⇒ 𝑥2 +
1

𝑥2 + 7 ≥ 9 ⇒ √𝑥2 +
1

𝑥2 + 7 ≥ 3  .................................................................................... (1p) 

√9𝑥2 + 4𝑦2 − 12𝑥𝑦 + 4 = √(3𝑥 − 2𝑦)2 + 4 ⇒ √9𝑥2 + 4𝑦2 − 12𝑥𝑦 + 4 ≥ 2 ................................... (1p) 

 √𝑥2 +
1

𝑥2 + 7 + √9𝑥2 + 4𝑦2 − 12𝑥𝑦 + 4 ≥ 5......................................................................................... (1p) 

Inegalitațile de mai sus sunt egalitați dacă 𝑥2 = 1 ș𝑖 3𝑥 − 2𝑦 = 0 ⇒ 𝑥 = 1 ⇒ 𝑦 =
3

2
 

și 𝑥 = −1 ⇒ 𝑦 = −
3

2
 .................................................................................................................................. (1p) 

Problema 2  (7 puncte) 

a) 𝑥3 − 3𝑥2 − 𝑥 + 3 =  (𝑥 − 3)(𝑥2 − 1) = (𝑥 − 3)(𝑥 − 1)(𝑥 + 1) .............................................. (2p) 

b) 𝐸(𝑥) =
(𝑥−3)(𝑥−1)(𝑥+1)

3(𝑥−4)(𝑥+4)
∶ (

𝑥2−𝑥−6

3𝑥(𝑥−2)(𝑥+2)
∙

𝑥(𝑥−2)(𝑥−1)

2(𝑥−4)
).................................................................... (4p) 

          𝐸(𝑥) =
2(𝑥+1)

𝑥+4
 ................................................................................................................................... (1p) 

Problema 3  (7 puncte) 

Desen corect................................................................................................................................................ (1p) 

a) 𝐴𝐵 = 10 𝑐𝑚       

            𝐴𝐴𝐵𝐶𝐷 = 100 𝑐𝑚2 .......................................................................................................................... (2p) 

b) 
  BO ⊥ (𝑉𝐴𝐶)
fie  OE ⊥ VC

} ⟹ 𝑉𝐶 ⊥ (𝑂𝐵𝐸) ⟹ 𝑉𝐶 ⊥ 𝐵𝐸 ⟹ 𝐵𝐸 ⊥ 𝑉𝐶 ...................................................... (1p) 

(𝑉𝐴𝐶) ∩ (𝑉𝐵𝐶) = 𝑉𝐶
 OE ⊥ VC, OE ⊂ (𝑉𝐴𝐶)

BE ⊥ VC, BE ⊂ (𝑉𝐵𝐶)
} ⟹ (∢(𝑉𝐴𝐶), (𝑉𝐵𝐶)) = ∢(𝑂𝐸𝐵).............................................................. (1p) 

𝑡𝑔∢(𝑂𝐸𝐵) =
𝑂𝐵

𝑂𝐸
=

5√2

5
= √2  .................................................................................................................... (1p) 

c)  Desfășurarea  

𝑉𝑃 ⊥ 𝐷𝐶 ⟹ ∆𝑉𝑃𝑇 ~∆𝑀𝐶𝑇    ,   𝐶𝑇 =
5(√3−1)

2
 cm ...................................................................... (1p) 

Problema 4   (7 puncte) 

Desen corect ............................................................................................................................................... (1p) 

a) 𝐴𝐵 = 8 𝑐𝑚 .....................................................................................................................................(2p) 

⟹ diagonala = 8√3 cm ............................................................................................................................(1p) 

b) 
  B′D′ ⊥ 𝐴′𝐶′
 B′D′ ⊥ AA′

} ⟹ 𝐵′𝐷′ ⊥ (𝐴𝐴′𝐶) ⟹ 𝐵′𝐷′ ⊥ 𝐴′𝐶 ........................................................................(1p) 

𝐴′𝑂′ ∥ 𝐴𝐶 ⟹ ∆𝐴′𝑀𝑂′~∆𝐶𝑀𝐴 unde 𝐴′𝐶 ∩ 𝐴𝑂′ = {𝑀}, 𝐴′𝐶′ ∩ 𝐷′𝐵′ = {𝑂′} 

⟹
𝐴′𝑀

𝑀𝐶
=

𝑀𝑂′

𝑀𝐴
=

𝐴′𝑂′

𝐶𝐴
=

1

2
⟹ 𝐴′𝑀 =

8√3

3
 𝑐𝑚, 𝑂′𝑀 =

4√6

3
 𝑐𝑚, 𝐴′𝑂′ = 4√2 𝑐𝑚  

⟹ ∆𝐴′𝑀𝑂′ dreptunghic în 𝑀 ⟹  A′C ⊥ AO′ ................................................................................(1p) 
  𝐴′C ⊥ 𝐵′𝐷′
 A′C ⊥ AO′

} ⟹ 𝐴′𝐶 ⊥ (𝐴𝐵′𝐷′)....................................................................................................(1p) 

 


